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= filter_eval {ordlpf, '31 O/ "butterllpf"] ma912 = filter_eval {Ord 3/ O/ "Chebyl |lpf"]
:= filter eval (ordlpf, .3, 0, "cheby2| lpf"] mag,,:=filter eval (ordlpf, .3, 0, "ellipllpf"]
:= filter eval {ordhpf, .3, 0, "butter|hpf"] mag,, = filter eval {ordhpf, .3, 0, "chebyl |hpf"]
:= filter eval (ordhpf, .3, 0, "cheby2 Ihpf"] mag,, = filter eval (ordhpf, .3, 0, "elliplhpf"]
= filter eval {Ordbpf’ .3, .7, "butter|bpass"] mag ., := filter eval {Ordbpf’ .3, .7, "chebyl |bpass"]
:= filter eval (ordbpf, .3, .7, "cheby2|bpass" ] mag,,:=filter eval (or oot 30 =T "elliplbpass"]
:= filter eval {ordbsf , .3, .7, "butter|bstop" ] mag,, = filter eval {ordbsf , .3, .7, "chebyl |bstop"]
:= filter eval {ordbsf, .3, .7, "cheby?2 |bstop"] mag,, = filter eval {ordbsf, .3, .7, "ellj_p|bstop"]
Batterworth Chebyshev type 1 Chebyshev type 2 Elliptic
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